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20.20

ADVANCE ASSA]VIESE

(NE"W COURSE)

Full Marks: lfi)

Pass Marks : 30

Time : Three hours

The figures in the nargin inilicate full marks for the questions.

1x3 = 3
4\l = 4
4x7 = 4.
3x3 = 9
1x3 = 3
6x1 = 6
3x2 = 6
8x1 = 8
2x7 = 2
3x1 = 3
3x1 = 3
4x'1, : 4
5x1 = 5
2x7 = 2
1x1 = 1
2x1, = 2
6x7 = 6
4x1. = 4
6x1. = 6
3x1 = 3
1x1 = 1

6x7 = 6
6x1 = 6
1x3 = 3

Q. No. 1 carrbs 7 mark each

Q. No. 2 urries 4 nnrks
Q No 3 carries 4 narks
Q. No. 4 cnrrbs 3 nnrks esclt

Q. No. 5 carrics 1 nnrk each

Q. No. 6 carrbs 6 nnrks
Q. No. 7 carries 3 nnrks eaclt

Q. No. 8 carries 8 nwrks

Q. No. 9,{ cmries 2 ruarks

Q. No. 98 carries 3 nnrks
Q. No. 9C cnnies 3 nurks
Q. No. 10 cnrries 4 nurks
Q. No. 11 carries 5 ntarks

Q. No. 12A carries 2 nnrks
Q. No. 728 cnrrbs 7 nnrk
Q. No. 72C cnrries 2 nnrks
Q. No. 13 carries 6 nnrks
Q. No. 74 cnrries 4 nurks
Q. No. 15A or 758 csrries 6 nnrks
Q. No. 15C carrbs 3 nmrks

Q. No. 75D carries 7 nnrk
Q. No. 16 carrizs 6 nurks

Q. No. 17 carries 6 ntnrks

Q. No. 18 carries 7 nnrk each
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